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QUESTION 1

Which sync is triggered when an administrator performs any create, update, or delete operation on a specific
configuration item? 

A. Automated differential 

B. Push 

C. Manual differential 

D. OnDemand 

Correct Answer: B 

The sync that is triggered when an administrator performs any create, update, or delete operation on a specific
configuration item is Push. Push is a synchronization method that allows administrators to trigger synchronization of
changes to a 

specific configuration item, such as a device or service, and to any related configuration items. Push synchronization is
triggered immediately, and can be used to quickly synchronize all changes to a specific configuration item. 

References: 

[1] https://www.cisco.com/c/en/us/td/docs/net_mgmt/network_automation_and_programma
bility/one_plus/b_one_plus_getting_started/b_one_plus_getting_started_chapter_01.html 

[2 ] https://www.cisco.com/c/en/us/td/docs/net_mgmt/smart_software_manager/one/2-2/user_guide/b_one_user_guide_
22/b_one_user_guide_22_chapter_01.html 

 

QUESTION 2

Which two validations will be completed for the PCCE production deployment model on an ESXi server? (Choose two.) 

A. Linux verification for containers. 

B. The hypervisor provides enough power. 

C. The lab is deployed properly. 

D. Ensure that the correct servers are on the correct sides. 

E. Correct RAM and CPU are being deployed. 

Correct Answer: DE 

Ensure that the correct servers are on the correct sides ensures that the ESXi server hosting the PCCE production
environment is configured according to the documentation and that the correct servers are on the correct sides. Ensure
that 

the correct RAM and CPU are being deployed ensures that the ESXi server is configured to have the correct amount of
RAM and CPU cores for the PCCE production environment. 
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References: 

[1] https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cust_contact/contact_center/crs/
express_10_6/design/guide/uccx106des/uccx106des_chapter_01.html 

[2] https://www.cisc o.com/c/en/us/td/docs/voice_ip_comm/cust_contact/contact_center/crs/express_10_6/insta
llation/guide/uccx106ins/ucc 

 

QUESTION 3

Where can the readiness for the CCE deployment be verified? 

A. CCE Web Admin -inventory 

B. CCE Web Admin -> Machines -inventory 

C. CCE Web Admin -> Deployment Settings -Inventory 

D. CCE Web Admin -> Infrastructure -Inventory 

Correct Answer: C 

The readiness for the CCE deployment can be verified by navigating to the CCE Web Admin -> Deployment Settings
-Inventory page. This page contains information on the infrastructure that is required for the CCE deployment, including
the number of servers, the region, and the type of deployment. 

 

QUESTION 4

Which type of machine will run an automated deferred sync job? 

A. Principal AW machine 

B. AW client machine 

C. Secondary AW machine 

D. AW/HDS machine 

Correct Answer: D 

 

An AW/HDS machine is a hybrid of an AW client machine and a Secondary AW machine, and it is used to run
automated deferred sync jobs. These jobs are typically used to transfer data between two or more AW machines, and
the AW/HDS 

machine acts as the intermediary, making sure that all of the data is kept up-to-date and in sync. 

References: 

[1] https://www.oracle.com/webfolder/technetwork/tutorials/obe/fmw/oim/11gR2-PS3/OIM_11gR2_PS3_Installation/OIM
_11gR2_PS3_Installation_Step2.html 
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[2] https://doc s.oracle.com/cd/E24628_01/doc.121/e28814/config_hds_aw.htm 

[3] https://docs.oracle.co m/en/middleware/lifecycle/12.2.1.4/core/one-time-processes-deferred-synchronization-
jobs.html 

 

QUESTION 5

What are two considerations for Active Directory (AD)? (Choose two.) 

A. user interface available 

B. Remote Access Control is available for software 

C. Read-Only Domain Controllers (RODC) are supported 

D. global catalogs are required at each AD site 

E. supports multi-domain, single AD Forest topology 

Correct Answer: CE 

Two considerations for Active Directory (AD) are that Read-Only Domain Controllers (RODC) are supported and that it
supports multi-domain, single AD Forest topology. RODC are used to provide secure access to AD data in remote
locations, and the multi-domain, single AD Forest topology allows multiple domains to be managed from a single AD
forest. Additionally, global catalogs are required at each AD site to enable efficient searches across the entire AD forest.
AD does not provide a user interface, but Remote Access Control is available for software that is used to manage and
administer the AD environment. 

 

QUESTION 6

Which keytool command lists certificates in the cacerts file? 

A. keytool -list -showinfo 

B. keytool -list -keystore cacerts 

C. keytool -list cacerts 

D. keytool -list -alias 

Correct Answer: B 

The command keytool -list -keystore cacerts can be used to list certificates in the cacerts file. This command will display
information about the certificates in the cacerts file, including the certificate\\'s alias, owner, issuer, and validity period. 

This command can be used to verify the certificates that are used for authentication and secure communication. 

Reference: https://docs.oracle.com/cd/E19509-01/820-3503/gghji/index.html 

 

QUESTION 7
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Which two claim rules will be added to specify the claims sent from ADFS to Cisco Identity Service as part of a
successful SAML assertion in PCCE? (Choose two.) 

A. sAMAccountName -Logon names maintained for backward compatibility 

B. user_principal -For Identifying the authentication realm of the user in the assertion sent to Cisco Identity Service. 

C. E-Mail Address -For the Outgoing claim type 

D. Unspecified -For the Incoming name ID format 

E. uid -For Identifying the authenticated user in the claim sent to the applications 

Correct Answer: AE 

When configuring SAML authentication for PCCE (Cisco Packaged Contact Center Enterprise) with ADFS (Active
Directory Federation Services), you will need to specify certain claim rules that determine which attributes of the user\\'s
AD 

account will be sent in the SAML assertion to Cisco Identity Service. sAMAccountName is a common attribute that
contains the logon name for the user, used for backwards compatibility with older systems that may not support newer 

authentication methods. 

uid is an attribute that can be used to uniquely identify the user in the claims sent to the applications. This attribute is
used in Cisco Identity Service to match the user to their corresponding PCCE account. 

 

QUESTION 8

What are two tasks of a PCCE initialization under Unified CCE PG? (Choose two.) 

A. Creates the CUCM Peripheral Gateway (PG) with the CUCM PIM. 

B. Creates just VRU PG; VRU PIMs need to be added manually. 

C. Creates the Media Routing PG (MR PG) with three MR PIMs. 

D. Downloads JTAPI from the Unified Communications Manager and installs it on the Unified CCE PG. 

E. Downloads JTAPI from the Unified Communications Manager, but manually need to be installed in the Unified CCE
PG. 

Correct Answer: CD 

 

QUESTION 9

Which account does PCCE wizard use for logins to access the appropriate server and enable interfaces, databases,
and protocols? 

A. Setup login 

B. Windows login 
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C. Local administrator login 

D. Service Account login 

Correct Answer: D 

The PCCE wizard uses a Service Account login to access the appropriate server and enable interfaces, databases, and
protocols. This Service Account is a Windows account that has specific privileges, such as the ability to access the
server and configure the various components of PCCE. The other options, Setup login, Windows login, and Local
administrator login, are incorrect. 

 

QUESTION 10

What are the Active and Configured agent counts for the 2K deployment model? 

A. 2K/4K 

B. 2K / 8K 

C. 2K/10K 

D. 2K/12K 

Correct Answer: A 

For the 2K deployment model, the Active and Configured agent counts are 2K/4K. This means that there are 2,000
Active agents and 4,000 Configured agents. The Active agents are those agents who are currently logged in and
working on the system, while the Configured agents are those agents who have been set up on the system but are
currently not logged in. Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucce/unified_cca/10_5
_1/ccuf_b_unified-cca-105-deployment/ccuf_b_unified-cca-105-deployment_chapter_01001.html 
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